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- SA|IRE 500,000 x2CHx 122 = 12,000
O =g+% 57,720
O Y3 60,000 x2Hx116Y = 13,920
O =% 60,000 x2Hx365Y = 43,800
O = 40,000,0008 = 40,000
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- 37 -




[ T=ANEA ]
TR ARIOE RORME  B7(6), 43
LI IEEAH)

A~ P~z
T

AR ) GARG - 71EAE] AIRARG 7| EE] B Qluke-odu] o) 19
FE - HOPRE - HMAY - TOIARY - HEAY - 2 - S quy | BES| 52
12 WS 9,000 10,000 A1,000
O {IEfnsH| 9,000

O =k A ZRns 500,0002x16% = 8,000
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05 MFX|H| 20,000 20,000 0
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O HEYS+E IMEZAM SO|AE WH  50,000,0008 = 50,000
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OOj|H|H] 120,000,000 = 120,000

- 56 -







- b8 -



-1 O d I S
I3 2944 =
IAEE 2023 E
O M2 - B (EH9] : M2
KL= =
:I'" =] ':::!"rﬂ EO"IO-I q! 0“ M.'I}'_z'ElM-ou = ?:!'
= (A) e G (A - B)
(B)
Y X F(A) 18,801,382 21,578,715 A 2,777,333
A 4,503,451 4,229,495 273,956
ArE242 4,271,371 3,997,415 273,956
g R Rl
= =3 A=Y 232,000 232,000 0
7|EtE e+ 80 80 0
A 1,123,273 1,343,881 A 220,608
O|Xp==< 25,000 80,000 A 55,000
e+ N
Elg|A™ U=+ 1,093,273 1,258,881 A 165,608
7|EtE 212 5,000 5,000 0
A 11,664,148 14,071,901 A 2,407,753
MHECFOAOI|
Xt 00340 AR Z+ 0 74,400 A 74,400
Elg|AHEERZ ¢ 11,544,638 13,997,501 A 2,452,863
ORI EHF =Y 119,510 0 119,510
A 1,510,510 1,933,438 A 422,928
FEAF
=MALAF 1,510,510 1,933,438 A 422,928
X & Xt 3 (B) 18,801,382 21,578,715 A 2,777,333
A 3,472,343 3,367,475 104,868
A A 201
AT HeAld 292 1,461,427 1,229,495 231,932
o 35 1,517,450 1,517,450 0
ArEE H 3 871 e 493,466 620,530 A 127,064
A 2,099,381 2,150,901 A 51,520
BYRYLS(FAN) 2840 28 &2 A =X 29 1,194,429 1,290,885 A 96,456
7| 24H| 904,952 860,016 44,936
A 55,000 55,000 0
Of| | H| (=21 A)
Oj[H|H|(=UH) 55,000 55,000 0
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O3 ol A

(1) OJ9AELHETF ———————mmmmm———————— 039
(2) o 4gs+ —\—————— - — —— 03] <
(3) g9 - ——————— " —"—"—"—————————— 0= 2l
(4) AdATALDE — - 0219
5) §FF —————— 0
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FIAEE ; 2023E

Otrs - 8= (Er9| : )
At off &k K= of 4t ol kS A|

UA|A) 10,431,106 A @A) 25,515,780 FYUAIA" 35,946,886

RaRuEae 1,345,632 e 1,345,632

el 9,085,474 el 9,085,474

redogsd 21,515,780 | A2 Ao g2 21,515,780

FEAE 4,000,000 | REAIF 4,000,000

X|&7|(B) 10,431,106 X|=H|(B) 25,515,780 XIEA B 35,946,886

Sl ALY 9,860,832 Sl ALY 9,860,832

AdY2IEE 470,274 RESEaEES 470,274

Hegs 10,000 Hegs 10,000

StexE[Al2es 20,362,000 | StA2|A|E2HS 20,362,000

[P oT=S NS InlE] 4,253,780 | =2 Sk A 2| 4,253,780

gdeeles 800,000 | YLIQlEts 800,000

Of|e[H 90,000 | OflH[H]| 100,000 | Of|H|H] 190,000

X QA - B) 0 % Q@A -B) 0 * QA"-B 0
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IAHEE ; 2023EHE

O A2 - Hx CHR| - MRl
9o & H 8 o] &
AHa s = 9 AHa s =9
A 1,345,632 A 9,860,832
G A8 B9 1,096,632 SiEX2AE 2EX- 2,897,632
7|Efg 42l 249,000 gl wx 7y yiale 4,894,200
x T2 —
OFAAO| Bk M
A 9,085,474 ) 5 ;_@H otrieiAl 2,069,000
T —
el Eael O|Xt=< 85,000 A 470,274
éc}’pg%%l%k% SSXO| Olzd Jf
e a4 9,000474 S o o 470274
A 10,000
Rets
HEZ ME 10,000
A 90,000
CIETE]
1] 90,000
[ A @® 10,431,106 gt A ® 10,431,106

A 4 (A-B) = 0
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oM oA
[ FEARL ]
2 A B IRl MR ARBESY = JMEESEAIR S E))
e oy | HRE =g
2.3 NS 2 Off &t
gAML + RE2Of 4 35,946,886 25084,993| 10,861,893
600 A} ' 10,431,106 10,505,393 AT4,287
610 YA 1,345,632 1,319,059 26,573
611 ABEY 1,096,632 1,070,059 26,573
02 7P38IITEABE 597,168 578,899 18,269
074& 220@x5600Tx40Ex128= " 591,360
O71E& x| 2202100 x 44 Ex 68 = 5,808
06 LUtESlTEAERE 415,464 432,600 A17,136
ogtrE 280x2400FIx51Ex12%8= 411,264
oYt dEx| 280 x50 x50Ex6 = 4,200
10 AAASUESI AR 84,000 58,560 25,440
OrAE 200 x50 x700Ex 128 = 84,000
661 7[EFF Y 249,000 249,000 0
02 7IEMABES9 249,000 249,000 0
Os=X2lE Ne| 45 1,50094x10,000E = 15,000
ouzxEe | ozt +=¢ 40,0008Ix60Ex12¥= 28,800
OYUHIALIR] B I TR HiHiEAIE AR
3,0002x57Tx100Ex 128 = 205,200
670 AL 9085474  9,186334| 2100860
671 O[Xf+= 85,000 85,000 0
01 Oz0[Xt+ 85,000 85,000 0
O0IZOIx ==Y 85,000,000 %= 85,000
672 ElAEYF+Y 9,000474| 9,101,334  A100,860
01 Yos|AHAF 6401427 6511,287|  A109,860
oY HYS(=H) 1,716,000
OSHE7BTLAIY iz X2 1,716,000,000%= 1,716,000
OYLe|A TUS(ZHI) 4,685427,0008= 4685427
02 EISHANYUZ 2,599,047 2,590,047 9,000
oHsdTARE7IE HYa 2,599,047
Ost2A BTLALY Lz 530,000,0008= 530,000
O=HE7|Z=AEG s, 2= 8) H7Ies 400,000,0009/= 400,000
OBHE7|ZAIE Y QIZIRIES 1,669,047,0008= 1,669,047
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T A H X F o LA
[ FEALR ]
TEAHOA 2OHRE : BFH(e), Mot E 4
HUAY : SIEEAY  CHIAY SR MEIAE 2F XY MEAY : BH7IZAE 29 XY 2 U2l (T MY
- HOISE . FMAR - TIRIAQ - MEAY - B . M2 quy | LES| 52
2 AAHo e + XEE0f A 35,946,886 | 25,084,993| 10,861,893
=| 13,687,000| 6,764,000 6,923,000
71| 8502047 4772047| 3,730,000
Z| 2152000 456,000 1,696,000
| 11,605839| 13,092946| 1,487,107
Arof| &t 10,431,106 | 10,505,393 AT4,287
= 1,716000| 1,862,000| 146,000
71 2599047 2,590,047 9,000
| 6116059| 6,053,346 62,713
2Hg(6)/ Aot R 10,431,106 | 10,505,393 NAT4,287
2| 1,716000| 1,862,000| 146,000
71| 2599,047| 2,590,047 9,000
| 6116059| 6,053,346 62,713
St ALY 9,860,832 | 9,893,440 A32,608
=| 1,716000| 1,862,000| 146,000
71| 2599,047| 2,590,047 9,000
| 5545785| 5441393 104,392
SIEKEIAA 29 XY 2,897,632| 2,812,240 85,392
7|1 2,069,047 2,069,047 0
T 828,585 743,193 85,392
7| =AY 22 X2 2,897,632 2,812,240 85,392
71| 2069047 | 2,069,047 0
T 828,585 743,193 85,392
201 e | 97,632 12,240 85,392
21 3323 HAA| 97,632 12,240 85,392
OHE7|Z=AE 2Y S| 97,632
7,900,000 x12€= 94,800
OMESI=XZ|AE Fojelg 47| 23|
236,000 x12¢= 2,832
215 S| 800,000 800,000 0
7| 400,000 400,000 0
T 400,000 400,000 0
00 S| 800,000 800,000 0
OE7|ZAEGH, 2 §) H7|= 800,000
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[ TEAER ]
T 0 ARRO)A

= =]
2OIRE

C 8e), dotrerE

FEAMY St ANY A SheNEZIAE 22 KR MRAY  SETEAE 2E XY = S| (CH] - SR
FE - EOIEE - HMAR . TIRIAIR - MEAY - 2 . HE quy | SRG | =2
7)) 400,000,000 = 400,000
) 400,000,000 = 400,000
307 QIzto|H™ 2,000,000| 2,000,000 0
7| 1,669,047 | 1,669,047 0
= 330,953 330,953 0
05 QIZIEE 2,000,000 2,000,000 0
OFE7|ZAIE 23 CIZIRIES 2,000,000
7) 1,669,047,0008= 1,669,047
) 330,953,0008= 330,953
SteXE| 28 B0 % +F JHd 4,894,200 4,799,200 95,000
2| 1716000 1,862,000| A146,000
7] 530,000 521,000 9,000
| 2648200 2416200 232,000
Sl BTL AMY 2 3,737,200 3,365,200 372,000
2| 1,716000( 1,722,000 16,000
7] 530,000 521,000 9,000
| 1491200 1,122,200 369,000
201  YEtR | 3737200 3,365,200 372,000
2| 1,716000( 1,722,000 6,000
7| 530,000 521,000 9,000
| 1491200 1,122,200 369,000
01 AtRaz|H| 5,200 5,200 0
OBt BTLAIY JutEIte|»e| =
130,000 x102Ix43|= 5,200
02 S528H| 3,732,000 3,360,000 372,000
OSt+27 BTLALY iz 2,982,000
=) 1,716,000,000 = 1,716,000
7) 530,000,0008!= 530,000
) 736,000,00094= 736,000
OStE7] BTLALY 2GH| 750,000,000 9= 750,000
HEE MN7HK| 2tz FEXRA 0 280,000| A280,000
= 0 140,000  A140,000
o 0 140,000  A140,000
214 MKRX| A 0 280,000|  A280,000
= 0 140,000  A140,000
= 0 140,000  A140,000
05 MFX|H| 0 280,000|  A280,000
= 0 140,000  A140,000
= 0 140,000  A140,000
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[ TEAE2 ]

TE AIQOA  EOFRE : BHFH(p), Mt E S
YRALY - SREALR  ERIMY : SleXE| 25T A = MM MRAIRY : SEtE A2 RRIEs F 0 LERAH| (Bl H
FE - HOIEE . BUAIY - TIRIMY - MBAY - B - 42 quy | BES | =2
SHEE AlE /X2 1,157,000 1,154,000 3,000
201 YEhR | 7,000 4,000 3,000
01 AtRaEH| 7,000 4,000 3,000
OSIXEAlE SHAERAAUS] HA=E 100,0008x102x42[= 4,000
Ocad ZE1Y 11 600,000&x5CH= 3,000
214 FMFX| LA 1,150,000 1,150,000 0
05 FMFXMH| 1,150,000| 1,150,000 0
OSITHEAY AR 430,000
O dtEEd 100,000 x3,000m’= 300,000
O QT ukt M= =M Bl k| 500,00081x607H= 30,000
O Uz Lf FEHUXAL HX| 1,000,0002x 1007 = 100,000
OCCTV S AQIZAL 6,000-2x20,000m= 120,000
OZ otRtZ JiES 300,000%x1,000m= 300,000
O2TIR SlNe|7Y sl+2 724 300,0008 x1,000m= 300,000
FEHQI SleX2|AlE /K| 22 2,069,000 2282000 213,000
SHE7| A2 RXR2E 1,111,000 1,111,000 0
214 F=MFX| LA H| 1,111,000 1,111,000 0
05 FMFXH| 1,111,000 1,111,000 0
OstrEEX| 015 H RIEXZ|H| 511,000
OdtEE{X| e EH | 110,000 x4,100E = 451,000
OXnYAH=E 24H| 200,000 x150= = 30,000
OHlzLL)X2| 2EH| 200,000 x150E= 30,000
0335k, &, 7IE2xXM2Ald FX[22] 300,000,000 = 300,000
OATIESIF=XEZ|AE FX| 22| (24714) 300,000,000 = 300,000
Yot A A 7|lsqict 458,000 581,000 A123,000
207 AN 458,000 581,000  A123,000
01 ATE9H| 458,000 581,000  A123,000
OsSoAEAE 7| & FHE EE 8Y 40,000,0002/= 40,000
O3St 2|t Qa-EsE 89 66,000,0008= 66,000
OTMS(AHE, H= 71X) FX22| 89 270,000,000 = 270,000
ORtE7|ZAE 29F A7HPE 89 10,000,00084= 10,000
O SSIrhiEAlE | o 7 (ST 72,000,00094= 72,000
SYTEALH BXAES 500,000 590,000 90,000
214 FHFX|mAH| 500,000 590,000 90,000
05 MFXMH| 500,000 590,000 A90,000
OXIStA|E = TO|EH|0]A T3 10,0002 x50,000m= 500,000
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[ TEAER ]

2 AIO|A  2OFRE : 2, MO SE
HMALY - HHRATES  CHIAY  =eXol 21 B2 U IE Y MEAY : QH2YH| F: AH (GRS
TE - OHOIE - HAUAY - TIRINY - MEARY - 2 - 42 quy | LES | 52
AdYRIES 470,274 511,953 A41,679
2250 21y | A =7 29 470,274 511,953 241,679
RIHZ | 374,026 415,905 241,879
101 Q17| 350,506 394,065 43,559
01 HE=# 350,506 394,065 43,559
o= 221,412
o= 4,470,300 x2Hx12E= 107,288
ora 3,734,100 x1Ex128= 44,810
o8z 2,171,300 x1Hx 128= 26,056
0= 1,802,400 x2Hx 128 = 43,258
(O 18,764,000 x 22| x50%= 18,764
O¥ZFZ7rtE 5,280
0200|144 100,000 x2Hx 122 = 2,400
O15EH0[|4 20EHD0| Tt 80,000 x1Hx 128 = 960
O10EH0[|4 15EHD0] Tk 60,0002 x1Hx12¢= 720
O50|A+ 10dD|gt 50,000 x2Hx 128 = 1,200
oEZFEF7PtE 480
025H0[4 30,0008 x1Hx12¢= 360
O20H0[4 25HD0| Tk 10,0008 x1Hx128= 120
OxMNZEY 38,452
o6z 12,321 %2 x50A[Ztx 128= 14,786
or= 11,130 x1Ex50A[Ztx 128= 6,678
o8z 9,992 x 1 Hx50A[Zkx 128 = 5,996
0= 9,160 x2Hx50A|Ztx128= 10,992
o7&+ 8,640
OB} 40,000 x4Hx128= 1,920
OFY7IE 20,000 x6Hx 128 = 1,440
OXMAHA 20,000x3Hx 128 = 720
O=MAHA 60,000x3Hx 128 = 2,160
OAIMYXHAO| & 100,000 8 x2H x 122 = 2,400
O7Ie8E+E 50,0006 x128= 3,600
OURSFaTE 5,193
Osat< 4,546,000 x1Hx4.1%x 128 = 2,237
O6at< 3,798,000 x1Hx4.1%x 128 = 1,869
o7at< 2,208,000 x1Hx4.1%x 128 = 1,087
ogalxg 50,0001 x6H x128= 3,600
OFUZAH| 140,000 x6H x 128= 10,080
OFER7HI 221,412,0009x1/12x120%= 22,142
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[ AL ]
2 AIO|A  2OFRE : 2, MO SE
ALY - AHRIAEE  CHRAY 220l od | W XE 2 MEPEAY : Qy¥Rdd| = el (CH S
FE - HOBE . BUAY - TPIAMY - MEAIRI - 2 . S quy | LES | 52
OT7tEAH| 221,412,0009x1/12x86%x1/30x 15 = 7,934
OX<L7 4| 289,938,000 x1.7%= 4,929
204 EEaA| 23,520 21,840 1,680
02 HgE=H| 12,000 11,280 720
OXZEXH| 12,000
062 175,000 x2Hx12&= 4,200
ora 165,000 x3Ex128= 5,940
08-92 155,000 x 1% x128= 1,860
03 SEdYFEH| 11,520 10,560 960
OSEUFTAESH| 11,520
O37|eEE 80,000 8Ix6H x 12 = 5,760
OdE/HRHY 80,0002x1Hx128= 960
OFTaHURHE 80,000 x5Hx 128l = 4,800
7|24H| 96,248 96,048 200
201 et | 76,000 75,800 200
01 AR2EH| 57,400 57,400 0
OYt=&H| 22,000
O37|2A ZLtdA =& 15,000,0008x13|= 15,000
O=2Xe| o =2 40,000,000 x10/100= 4,000
OHzHdH 0|8s& 20,000 x403|= 800
OSI+E37|HEHIL DHEL A =42 2,200,0008= 2,200
Odtr et 23 M 3,000,000 x14l= 3,000
O33W|THZAY AFEE AP 2FH| 2,000,000 x 128 = 24,000
O=&H| 8,400,0008= 8,400
02 JS2GH| 9,800 9,800 0
OXL37|Y Ofitz|A BEAIAY FX[22] 9,800,000 x12|= 9,800
12 WSZHH| 2,500 2,500 0
Oty HYAL s 500,000 x5%= 2,500
21 Sz HAN 3,900 3,700 200
Odt==g2lH| 3,900,0008Ix12|= 3,900
22 AtEh4ddtd| 2,400 2,400 0
Odtr=XtE FFO 200,0008Ix12¢€= 2,400
202 OfH| 10,248 10,248 0
01 =LHAH]| 10,248 10,248 0
Ot YFFT ofH| 10,248,0002= 10,248
214 F=MFX|mA|H| 10,000 10,000 0
05 FMFX|H| 10,000 10,000 0
OBAL MR X| 10,000,0002/= 10,000
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RE

10,000
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IAHEE : 2023EE

O AR - S CHR| - ML)
oo g H & o £
A A s =9 AHEa s =9
A 21,515,780 A 20,362,000
X Holo=A0l o) VARS| KAAOI| Bk M S= -6 AI‘1E-|A|§ %g gtl
tEAAdIF+Y ElR|AHE 2R+ 21,215,780 | SR 2A Y =5 Al 19,317,000
SAHREE Y 300,000 Sheatz A 1,045,000
A 4000000 |, . . A 4,253,780
ouxz | £ oA |
=MALF 4,000,000 = 3 SleME[EK] 22| 4,253,780
A 800,000
geel 25
7 EtEgeletE B 800,000
A 100,000
Of|H|H]
Of|H|H| 100,000
et A ®w 25,515,780 et A B 25,515,780

Xt o (A-B) = 0
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AR S M A
[ =EAEL ]
2 AEHeY o A2 MY ERIAHEERISY 5 ERIAHEERETY (B9l ®e)
o = oy | Ha= =7t
2. 8. M3 Ojf At

e AlAROAE + RH2 0L 35,946,886 25,084,993 10,861,893
100 A2 25,515,780 14,579,600 10,936,180
170 X2doig=¢ 21,515,780 9,579,600 11,936,180
173 ERIAHEERGSTY 21,215,780 9,279,600 11,936,180
02 ERAHEEZZSY 21,215,780 9,279,600 11,936,180

OYER|ATYUZ 20,026,000

OHE SteXElAlY SHEAY 15,922,000

=) 8,404,000,0008/= 8,404,000

70) 5,838,000,0008= 5,838,000

) 1,680,000,000%= 1,680,000

O8Y At ARl HElAlE EXALY 2,829,000

=) 2,691,000,0008/= 2,691,000

) 138,000,0008/= 138,000

OEd FEXT 2ntZsteME|AE EXAY 486,000

=) 364,000,0008/= 364,000

) 44,000,0008/= 44,000

) 78,000,0008= 78,000

OfIH giote -2ot+22 | 789,000

=) 512,000,0008)= 512,000

) 21,000,0008= 21,000

) 256,000,0008/= 256,000

O AN AT 1,189,780,000¥= 1,189,780
175 SAREITY 300,000 300,000 0
09 7IEISAIREESY 300,000 300,000 0

OBt /IRt £EF 30,000,0008x1074= 300,000
180 FEAF 4,000,000  5000,000( ~1,000,000
181 &=AMALolm 4,000,000  5000,000| ~1,000,000
01 =AMAYol= 4,000,000 5,000,000/ A1,000,000

ox=MA Y= 4,000,000,000= 4,000,000
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A= H K

3
=

of

A

-

M

TE ARG HoRRE - 87(6), Aere4d
ALY ¢ ST 85 B9 sEAEAA S A AIRAKY A SRR Al SAAKY B AR (TR M)
FE - EOIEE . HMAY . TEIAY - MEAY - 2 - S v | LES | =2
e AlAFRH e + X0 35,946,886  25084,993| 10,861,893
=| 13,687,000 6,764000| 6,923,000
7| 8,502,047 4,772,047 3,730,000
= 2,152,000 456,000 1,696,000
| 11605839 13,092,946 A1,487,107
KH20] A 25,515,780 14,579,600 10,936,180
= 11,971,000 4,902,000 7,069,000
7| 5,903,000 2,182,000 3,721,000
= 2,152,000 456,000 1,696,000
T 5,489,780 7,039,600 A1,549,820
eHg(0)/ ot A 25515780  14,579,600| 10,936,180
= 11,971,000 4,902,000 7,069,000
7| 5,903,000 2,182,000 3,721,000
= 2,152,000 456,000| 1,696,000
i 5,489,780 7,039,600 A1,549,820
=SS EIPNPSI-IES 20,362,000 10,266,000 10,096,000
= 11,971,000 4,472,000| 7,499,000
7| 5,903,000 2,182,000 3,721,000
= 2,152,000 456,000| 1,696,000
i 336,000 3,156,000 42,820,000
SheME|AY BY R A 19,317,000 5903,000| 13,414,000
=| 11,459,000 2,545000| 8,914,000
7| 5,882,000 1,832,000 4,050,000
= 1,896,000 456,000 1,440,000
T 80,000 1,070,000|  A990,000
HE sleX|Ag SHEAY 15,923,000 2,709,000 13,214,000
= 8,404,000 1,069,000 7,335,000
7| 5,838,000 549,000 5,289,000
= 1,680,000 214000 1,466,000
i 1,000 877,000  A876,000
401  A|2H[SISCHH| 15,923,000 2,709,000| 13,214,000
= 8,404,000 1,069,000 7,335,000
7| 5,838,000 549,000 5,289,000
= 1,680,000 214000 1,466,000
i 1,000 877,000  A876,000
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[ TEAMEL ]

TR AR RORE : B(6), JHrESA
AN S B TN

SR F4 8 A

AFARE 71 sk Rl A

A B A

(9] : Hel

FE . BOIRE . HUAY - HPAY - HEAY - S . M2 quy | G54 | 52
01 Al&H| 15,522,000 2,359,000 13,163,000
0717 shrAeAld SHEA 15,522,000
=) 8,204,000,0008/= 8,204,000
7) 5,638,000,0008)= 5,638,000
) 1,680,000,0008= 1,680,000
02 #eH| 400,000 350,000 50,000
OA% shrA A ST 400,000
=) 200,000,00084= 200,000
71) 200,000,0008!= 200,000
03 A|HELHH] 1,000 0 1,000
OA% sEAAA SAAK
1,000,0008!= 1,000
Y 2 2 ESEXEAE EXALY 2,830,000 1,719,000 1,111,000
= 2,691,000 578,000 2,113,000
7| 0 1,091,000| 21,091,000
= 138,000 50,000 88,000
o 1,000 0 1,000
401 A|H|SIROHH| 2,830,000 1,719,000 1,111,000
= 2,691,000 578,000 2,113,000
7| 0 1,091,000| 21,091,000
= 138,000 50,000 88,000
o 1,000 0 1,000
01 Al&H| 2,829,000 1,719,000 1,110,000
O8Y bt AESEXME[AE EX[ALY 2,829,000
=) 2,691,000,0008= 2,691,000
) 138,000,000 = 138,000
03 A|HELHH| 1,000 0 1,000
08Y it ARSI E|AY HXIAY
1,000,0008= 1,000
g HE L ESkeAEAlE EXIANY 564,000 1,475000|  A911,000
= 364,000 898,000  A534,000
7| 44,000 192,000|  A148,000
c 78,000 192,000|  A114,000
o 78,000 193000{  A115,000
401 A|[-H[SLCHH] 564,000 1475000  A911,000
= 364,000 898,000  A534,000
7| 44,000 192,000  A148,000
= 78,000 192,000|  A114,000
i 78,000 193,000{  A115,000
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ARt BOPLE : 87(6), FolrE-A
1910 sl B eIl Sl S R A AR e R arrRaEEA ARG B AP RGE] (TR YY)
FE . EOIRE . HUMY - TYAY - MEAY - S v | BES | =2
01  AlAdH]| 563,000 1,469,800| 906,800
O S AFRSIEXNEAE EXALY 563,000
=) 364,000,0008I= 364,000
7) 44,000,0008= 44,000
) 78,000,000%= 78,000
™) 77,000,000 = 77,000
03 A|lESCHH| 1,000 5,200 A4,200
O HE AqRSeMI|AY HXAY
1,000,0008!= 1,000
STz MM 1,045,000 4,363,000 ~3,318,000
= 512,000 1,927,000 21,415,000
7| 21,000 350,000  A329,000
= 256,000 0 256,000
T 256,000 2,086,000 A1,830,000
Ot &5X|F Stz LHEALY 0 3,563,000 43,563,000
401 A|[-H[SIRCHH] 0 3,563,000 A3,563,000
01  Al&H| 0 3,563,000 A3,563,000
7t EAHX|T Sl FXAY 0 500,000 500,000
401  A|2H[SISCHH| 0 500,000|  A500,000
01 Al&H| 0 500,000|  A500,000
N itorg 25z FH| 1,045,000 300,000 745,000
= 512,000 150,000 362,000
7| 21,000 0 21,000
= 256,000 0 256,000
T 256,000 150,000 106,000
401 A[EH|SIRCHH]| 1,045,000 300,000 745,000
= 512,000 150,000 362,000
7| 21,000 0 21,000
= 256,000 0 256,000
T 256,000 150,000 106,000
01  Al&H| 1,044,000 300,000 744,000
O Fitog ootz Y| 1,044,000
=) 512,000,000 8= 512,000
7) 21,000,00084= 21,000
) 256,000,000 8= 256,000
) 255,000,000 9= 255,000
03 A|[-SCHH| 1,000 0 1,000
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[ =ZAIHL ]

TR ARl RORLE : 37(6), FekE4a

AANY] ¢SSR B B9IG] SR A AR 9 SRS el gu] B AJAdege] (Et2 : Mgk
HA
T2 - ZOIREE - HAMAIY - CHRIAIY - MBEAIE - 5 - M= off A oH oT| X} of 5 &
— =
OYH e 38422 HH|
1,000,000 = 1,000
LS slAKZAA 22| 4,253,780 3,413,600 840,180
= 0 430,000 430,000
= 4,253,780 2,983,600 1,270,180
- ES EIPI = 4,253,780 3,413,600 840,180
= 0 430,000 430,000
= 4,253,780 2,983,600 1,270,180
SAT|EAM 7| R SR 22 4,253,780 2,553,600 1,700,180
401  A|[-GH|SECHH| 4,253,780 2,553,600 1,700,180
01  AJ&H]| 4,250,000 2,550,000 1,700,000
QA ET7| HEFTSA
1,450,000,0008!= 1,450,000
O(HHEHEALRIYY| T2 =T AL
450,000,0008 = 450,000
QARSI AF|EA|E =R MH| MX|SA
350,000,000 = 350,000
QYA HESA 7| A AEFUAE HX|SA
270,000,0008!= 270,000
O(7IR)EAINZ(AIE HZ I HiEHEH| JTHESAL
100,000,000 = 100,000
OID)EX| HEESHIT Gl HiZHEH| § THESA}
50,000,000%/= 50,000
O(EmXEAE)E X2 AlE 24H| JEFZA
50,000,0002!= 50,000
ORISR EAE HRE ATE WXSA
150,000,000& = 150,000
ORI ATtESkXNE A SSAIE H HiZHEH| THESSAL
50,000,0008!= 50,000
ORI AR EAE FAIRZE QFHAIY THESSA}
30,000,0008!= 30,000
O=X| M2|AlE AXMH| =2HAH0|Y & JHEF=SAL
150,000,000 = 150,000
O=X| M2|AlE ALY L utdH| HE2ZAt
150,000,000& = 150,000
OR=FE7 |ZSA 1Y =S aH| TESAL SP SRR SkeiiZAlE §)
1,000,000,000%— 1,000,000
03 A|[™ECHH| 3,780 3,600 180
OAEHE 7| HE2+=3At & 13U
1,400,000,000¥x0.27%= 3,780
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B ARG BORRE  $7(6), AekFE S
W 1 GARE T ¢ leddelas Bl A

FE - HOIEE . HMAY . TPAY - MEAY - 2 . M v | SRS | =2
SSEOITAEAE EfE LA EXALY 0 860,000 860,000
401  A|ZH[SIFCHH| 0 860,000 860,000
01  Al&H| 0 860,000 860,000
s 800,000 800,000 0
7|EtEgelgs e 800,000 800,000 0
=eH| X et 800,000 800,000 0
802 BHZ7(E} 800,000 800,000 0
01 IuEXZoelE 700,000 700,000 0
O=1EZEF ALEZTHY Sl O|X} Hietg
700,000,00084= 700,000
02 AlzHEZFEEHE 100,000 100,000 0
OTH|Z2ZF ALETH I O|X} Hekm
100,000,0008= 100,000
Of| e[ H|(XH2H) 100,000 100,000 0
Of| e[ H|(XH2H) 100,000 100,000 0
Ofl || (Kt=H) 100,000 100,000 0
801  OfjH|H] 100,000 100,000 0
01  YEHojH|H| 100,000 100,000 0
OO{H|H]| 100,000,0008= 100,000
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FIAEE ; 2023EE

o ;g

C} L X OH Haxe = 7}
3 & SEEAZTH | oy Ay S
= (A) (A - B)
®)
Y X3 (A) 35,946,886 25,084,993 10,861,893
A 1,345,632 1,319,059 26,573
Pl ANEE2 1,096,632 1,070,059 26,573
7|Etg == 249,000 249,000 0
A 9,085,474 9,186,334 A 100,860
el O|Xt=< 85,000 85,000 0
Elz[A M UZ 9,000,474 9,101,334 A 100,860
A 21,515,780 9,579,600 11,936,180
AtEAoig¢ Elg|AHEE T2+ 21,215,780 9,279,600 11,936,180
SAHREE Y 300,000 300,000 0
A 4,000,000 5,000,000 A 1,000,000
FEXF
=AAH LA F 4,000,000 5,000,000 A 1,000,000
X| £ Xt = (B) 35,946,886 25,084,993 10,861,893
A 9,860,832 9,893,440 A 32,608
SteMEZAE 2Y X[- 2,897,632 2,812,240 85,392
St ALY - -
SleXEl 28 B 3 4,894,200 4,799,200 95,000
PHEOI SleM2 A FAI 2,069,000 2,282,000 A 213,000
A 470,274 511,953 A 41,679
HH2 A E
2250l ol 2| 9 29 470,274 511,953 A 41,679
A 10,000 10,000 0
Hees
Heg e 10,000 10,000 0
A 90,000 90,000 0
il H](=2R)
Oj[H|H|(=UA) 90,000 90,000 0
A 20,362,000 10,266,000 10,096,000
SteX2AE 25 SteMEAE M S A 19,317,000 5,903,000 13,414,000
Slemtz MM 1,045,000 4,363,000 A 3,318,000
A 4,253,780 3,413,600 840,180
L2 sleXelAld e
LS SXaEA 22 4,253,780 3,413,600 840,180
A 800,000 800,000 0
gdgees
7|EtgReleE el 800,000 800,000 0
A 100,000 100,000 0
Of|H[H|(XH2A)
oj[H|H| 100,000 100,000 0
X 9 (A-B) 0 0 0




